

## UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications) **UPLB University Planning and Maintenance** 

UPLB BAC SECRET DATE: 8 AUG 19 2024 UPLE-RQ- 8-085-24-I - Warm DEADLNE OF SUBMISSION UPLB-RQ-

DEADLINE OF SUBMISSION:

Suppliers Name:	Date	July 01, 2024	
	Fund Code:	9375300	
	MOP:	Small Value Procurement	
	Contact No:	09663189815	
	Contact Person	Engr. Pamela Marie K. Gordovez	
		Mana Alfred C Viscou	

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- 2. Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
  3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional 3. Signors must indicate the BRAND and MODEL Number for equipment and its accessories of penginerals. Evidence shall be in the statement of specification and compliance issued by the manufacturer and sample.

  4. Quotation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).

  5. Quotations exceeding the Appoved Budget for Contract shall be rejected.

  6. Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation

  7. Others:

ITEM No.	GENERAL NAME OF THE	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must static here the detailed technical specifications of their offer against each of the indisdual parameters of each requirements.	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
1	Construction Supplies for the Completion of UPMO Comfort Rooms.	1.0mm thk type 304 satin finish stainless push plate with 2mm Ø type 304 satin finish stainless steel pull bar, complete with appropriate screws	set	2	850.00	1,700.00				
2		1.0mm thk type 304 satin finish stainless push plate, complete with appropriate screws	set	2	450.00	900.00				
3		1/2" wide Teflon Tape	rol	2	30.00	60.00				
4		12mm thk waterproof, multi- resistance wood grain pattern phenolic board partition wall. Provide manufacturer's standard stainless steel mounting bracket and accessories, as per plan (Fabrication, Supply and Delivery)	- set	7	1,800.80	12,605.60				
5		20mmø (1/2" ø) PPR Gate Valve, branded and brand new	рс	4	700.00	2,800.00				
6		20mmø (1/2" ø) PPR W. Elbow 90°, branded and brand new	рс	4	75.00	300.00				
7		20mmø (1/2" ø) PPR W. Tee, branded and brand new	рс	10	90.00	900.00				
8		20mmø (1/2"ø) PPR Coupling with thread, branded and brand new	рс	5	550.00	2,750.00				
9		4"ø Floor Clean-Out with adapter , Metal counter- sunk	рс	1	1,600.00	1,600.00				
10		63mmø x 20mmø (2"ø x 1/2"ø) PPR Coupling Reducer with thread, branded and brand new	рс	3	500.00	1,500.00				

1		6mm thk x 1200mm x 600mm Full size glass facial mirror with 6mm thk marine plywood shealthing and aluminum frame (Provide felt paper backing) Complete with aluminum mounting bracket and screw with PVC expanding shield (Fabrication, Supply and Delivery)	set	1	6,500.00	6,500.00		
1:	2	6mm thk x 1600mm x 800mm Full size glass facial mirror with 6mm thk marine plywood shealthing and aluminum frame (Provide felt paper backing) Complete with aluminum mounting bracket and screw with PVC expanding shield (Fabrication, Supply and Delivery)	lot	1	7,648.47	7,648.47		
1	3	75mm long stainless steel	set	4	392.00	1,568.00		
		barrel bolt, complete with appropriate screws						
1	4	75mm x 75mm Loose pin	рг	2	200.00	400.00		
1	5	hinges , heavy duty 75mm x 75mm Loose pin hinges, complete with appropriate screws	set	8	235.00	1,880.00		
1	6	90mm x 9mm Loose pin	pr	2	160.00	320.00		
4	7	hinges , heavy duty		2	190.00	380.00		
1	,	Alkyd-based glazing putty, premium brand	1	2	190.00	360.00		
1	8	Barrel bolt 1/4" Ø x 2"	рс	2	15.00	30.00		
1	9	Cylindrical lockset, Heavy duty	set	1	800.00	800.00		
2	0	D-1; Wooden louver swing door (H=1.4m, W=0.6) - Fr. 50mm x 100mm KD tanguile top, bottom, mid rail and stile, fr 25mm x 50mm KD fixed wood louver blades fr 50mm x 100mm KD single rabbeted stop wooden jamb (Fabrication, Supply and Delivery)	set	5	4,600.00	23,000.00		
2	1	D-1A; Wooden louver swing bar door (H=1.4m, W=0.75) Fr 50mm x 100mm KD tanguile top, bottom, mid rail and stile, fr 25mm x 50mm KD fixed wood louver blades fr 50mm x 100mm KD wooden louver door (Fabrication, Supply and Delivery)	set	1	3,868.00	3,868.00		
-	2	Diamond cutting disc, 4"Ø	рс	1	450.00	450.00		
2	3	Faucet, single lever mixer, pull knob, chrome finish, with pop up waste (for Deck Mounted Lavatory Faucet), branded and brand new	рс	6	6,500.00	39,000.00		
2	4	Flash door 0.80 m. Width x 2.10 m Height with 2" x 3" frame, both face with marine plywood including 2" x 4" door jamb, Tanguile or Mahogany (Fabrication, Supply and Delivery)	рс	1	4,800.00	4,800.00		

	25	1
	26	
	27	
-	28	
	29	
-	30	1
	31	
	32	
	33	4
	34	
	35	
	36	
	37	
	38	
	40	
-	41	
	42 43	
	-4-7	
	45	
	46	
	47	
ſ		

Flat wall enamel based paint, White, Premium quality paint	gal	1	700.00	700.00		
Flatwall enamel based paint, premium brand	1	2	205.00	410.00		
Floor Drain Strainer, 4" x 4", stainless type 304 with screws, branded and brand new	рс	12	900.00	10,800.00		
Garden Faucet 1/2" - Brass	рс	2	550.00	1,100.00		
Glazed ceramic floor tiles, 0.30mm x 0.60mm	рс	510	135.00	68,850.00		
Glazed Ceramic Wall tiles 30 cm. x 60 cm.	рс	185	200.00	37,000.00		
Hacksaw Blade, 12", 18tpi	рс	10	120.00	1,200.00		
Heavy duty door closer with complete parts and accessories, premium brand	set	1	2,610.00	2,610.00		
Hygiene Wash Bidet Sprayer Complete with Braided Flexible Hose and Chrome-plated Wall- mounted Bracket	рс	2	1,200.00	2,400.00		
Lavatory P-trap with Tailpiece 1 1/4"	рс	2	700.00	1,400.00		
Liquid Hand Soap Dispenser (Wall-mounted), ABS plastic material, 1liter capacity	set	2	1,500.00	3,000.00		
Over Hung Counter Lavatory, premium brand, white, with SS P-trap, angle valve and water supply braided flexible hose, with cast-iron bracket with screw and expanding shield, W=430mm x L=580mm x H=220mm	set	2	5,645.00	11,290.00		
Paint brush 2", Horse hair bristle	рс	2	60.00	120.00		
Paint roller 7" with PVC Tray	рс	1	200.00	200.00		
Pipehood, 2.5 mm x 2.5 mm screen, 2"ø, round type, stainless steel with metallic silver coat, with 3pcs spring clip for connection of duct or pipe	рс	3	600.00	1,800.00		
Portland Cement Type I Unblended (40kg/bag)	bag	7	300.00	2,100.00		
PPR Elbow (Plain) 1/2"	рс	8	25.00	200.00		
PPR Female Elbow 1/2" PPR Pipe, 20mmø (1/2" ø) x 3.42mm thk. x 4m, PNS20, ISO 15874, branded and brand new	pc pc	8 4	135.00 500.00	1,080.00 2,000.00		
PPR Tee (Plain) 1/2"	рс	6	35.00	210.00	 	
PVC Elbow, 2"ø, 45° bend, ASTM D-2729, ASTM 3311 and ISO 4435, branded and brand new	pc	30	70.00	2,100.00		
PVC Elbow, 2"ø, 90° bend, ASTM D-2729, ASTM 3311 and ISO 4435, branded and brand new	рс	16	80.00	1,280.00		
PVC Pipe Solvent Cement, 400 cc/can, branded and brand new	cn	8	350.00	2,800.00		

48		PVC Pipes, 2"ø, 3.0 meters trade length, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435, branded and brand new	рс	4	400.00	1,600.00		
49		PVC Pipes, 4"ø, 3.0 meters trade length, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435, branded and brand new	рс	1	900.00	900.00		
50		PVC Tap Tee, 2"ø x 1 1/2"ø, ASTM D-2729, ASTM 3311 and ISO 4435, branded and brand new	рс	12	150.00	1,800.00		
51		PVC Wye 2" - Orange	рс	6	85.00	510.00		
52		Quick dry enamel based paint, premium brand	gal	1	932.00	932.00		
53		Quick Dry Enamel Paint, Maple, Premium quality paint	gal	1	750.00	750.00		
54		Sand (S-1)	m <sup>3</sup>	1.5	2,000.00	3,000.00		
55		Sanogene - Chlorine Dioxide	1	1	800.00	800.00		
56		Semi-gloss latex based paint, White, Premium quality paint	gal	2	750.00	1,500.00		
57		Shower Head/Shower Valve/Shower Faucet, with showerhead with arm, Zinc die casting handle, Cast brass body, chrome finish Ceramic cartridge, Exposed aerator, with pop-up drain, branded and brand new	set	4	11,000.00	44,000.00		
58		Silicon Caulking Gun	рс	5	150.00	750.00		
59		Silicon Sealant, 300ml/tube, sanitary grade	tub	10	300.00	3,000.00		
60		SS Double Angle Valve, 1/2" x 1/2", Heavy Duty	рс	9	580.00	5,220.00		
61		SS Faucet Connector, 1/2"ø x 1/2"ø x 18", with thread connector at both ends (for Deck Mounted Lavatory Faucet)	pc	4	150.00	600.00		
62		SS P-trap with Clean-out and drain pipe, 2" ø heavy duty	рс	4	700.00	2,800.00		
63		Structural Epoxy A & B 400cc	set	1	260.00	260.00		
64		Tee, 1/2" Ø x 1/2" Ø, Schedule 40, heavy gauge	pc	2	250.00	500.00		
65		Teflon Tape 3/4" x 10m.	rol	12	35.00	420.00		
66		Tile Adhesive, premium brand (25kg/bag), medium duty	bag	75	336.00	25,200.00		
67		Tile grout sealer, premium brand, (1L/bottle)	btl	32	840.00	26,880.00		
68		Tile grout, premium brand (2kgs/bag)	bag	27	150.00	4,050.00		
69		Toilet Paper Dispenser, 10" Ø Polystyrene-ABS material, wall mounted, key- lock mechanism, with mounting brackets, screws and PVC expanding shield	set	2	2,000.00	4,000.00		
70		Unglazed Ceramic Floor tiles 30 cm. x 60 cm.	рс	373	200.00	74,600.00		
71		Universal Angle Valve 1/2" - One-way	рс	6	470.00	2,820.00		
72	Revised 6 June 2018/ JOII	Water Closet Flexible Hose 1/2" x 1/2" x 12" NY BAC RESOLUTION NO. R-006-18	рс	4	290.00	1,160.00		

73	Water closet, White, Water Consumption 4.5 LPF, Lever- type flushing valve, complete with tank fittings, waste connector S-trap set, floor fixing (PVC flange connector) set with cap, stop valve, water supply braided flexible hose and anti-bac seat and cover, tank type, L=702mm x W=431mm x H=776mm Brand new and branded	set	2	9,000.00	18,000.00			
				TOTAL ABC	496,462.07			
	Λ					TOTAL QUOTED AMOUNT II	N WORDS:	
****	GR. DONNY REY D. CAMUS BAC TWG ment price (including VAT) and state				n make delivery. It adline stated her ENGR PAM		our quotation in the office	
2. In order to assure that manufacture		arranty seco	urity shall I			minimum period of three (3) months, in the ca NDABLE SUPPLIES after acceptance by End-		
<ol><li>UPLB reserves the right to reject</li></ol>	r days. to the lowest quotation wich complies with the t any or all offers as may be considered most a erwriting shall be valid only if they are signed o	dvantageou	us to the U	niversity.		ein		

REQUIREMENTS	Shopping (Section 52)	Procurement- Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53 10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Negotiated Procurement- Emergency (Section 53.2)
1 Mayor's/Business Permit	1	/	/	/	1
PhilGEPS Registration Number	1	1	1	/	/
Professional license/ CV (consulting services)		1		/	
PCAB License (for Infrastructure)		1			
Income / Business tax returns (except for government agencies as lessor)		FOR ABC'S ABOVE 500K	/	/	FOR ABO'S ABOVE 50K
Omnibus Sworn Statement		FOR ABC'S ABOVE 50K			FOR ABC'S ABOVE 500K
7 NFCC for Infrastructure with ABC above Ph500k		,			FOR ABC'S ABOVE 50K

After having carefully read and accepted your General Conditions, I/We quote you on the Item at prices noted above.

Name of the Company: Address: Fax No.: Signature over Printed Name of Representative: Email Address: Position: Date: